BP Cdlevlus BB Retorn Vests
YTeesday, October 15, 2013

Find ¢'
2. ¥ Eszﬁ-:r@{_r:rjs;x+ 1)

yl :< W&<’Sim><> -+ <ZC§5)’(\<COSX——%|>

[ a2
Y'= ~Bin' X+ 208 %+ 2co8 %
fﬁ/l Z(COSQ X’Siﬂlx>+2(/og W
— S~

@f IcasAx @

@ ‘()()01 Siv\(%ﬂws(%@ (R sa‘gy
SinAE =) sinboosP

/_g/'n?/zé} - /@/w\@(ﬁ?@‘

© F’(X): ngx
R ¥ tanx

@ %I: — cobtX cSex+ Cs@X 4 CSC x
(ot X




Sectonll. (20 pints) Find i points

(poiek) = Vi [westhak™
)U‘,): O oR wmake § '()«)wn%

)=
&

o)z ~5
fle)=¢

> =8
Since £{x) <@ on {-3,5), £(x) is decreasing on

(-3,5).

Since £'(x) > on (-infinity,-3) © (5,infinity), F(x)
is increasing on (-infinity,-3) © (5,infinity).
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AP Calculus - Derivatives - 9 points (1989 ABS) Name

Note: This is the graph of the derivative of /. not the graph of /.

The figure above shows the graph of f'. the derivative of a function f. The domain of f is the set of all real
numbers x such that —10 < x <10.

(a) For what values of x does the graph of f have a horizontal tangent? Justify your answer.
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(b) For what values of x in the interval (-10, 10) does fhave a relative maximum? Justify your answer.

‘F}W-'/W/W\ak/'w\a\ e X=-17{ X=8 becanet
fw(X) 9oc s Ao FosH{\/{‘}or\a@dw.ﬁ GCleCe X«uq(wzs,

(¢) For what values of x is the graph of f concave downward? Justify your answer.

f is concave downward when f'(x) is
decreasing which is on (-3,2).
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